
Alterations reserved – SIBRE Siegerland-Bremsen GmbH – Auf der Stücke 1-5 – D-35708 Haiger, Germany
Tel.: +49 2773 94000 – Fax: +49 2773 9400-10 – e-mail: info@sibre.de – www.sibre.de

GUIDE ROLLERS

Benennung

Zeichnungs-Nr.

DIN ISO 1302

no_weight.1

Oberflächenangaben 

Werkstückkanten nach DIN6784
Edges of all parts to DIN6784

-0.4 +0.4

Gewicht
in kg

1:5

Maßstab

DIN ISO 2768 m/H

Allgemeintoleranz

Datum Name

Bearb. 08.11.2023 Hudel

Gepr. SIBRE

10 0005 4726 1
Blatt

Aus-
gabe Änderung

Checked In
Status Bl.

1

Siegerland Bremsen
Auf der Stücke 1- 5
35708 Haiger-Rodenbach
www.sibre.de

Sämtliche Radien und
Übergänge riefenfrei
All radii and crossings
free of notches

Artikel-Nummer

Kommissions-Nummer

Standard

.0

We
it
er
ga
be
 s
ow
ie
 V
er
vi
el
fä
lt
ig
un
g 
di
es
er
 U
nt
er
la
ge
, 
Ve
rw
er
tu
ng
 u
nd
 M
it
te
il
un
g 
ih
re
s 
In
ha
lt
s 
si
nd
 n
ic
ht
 

ge
st
at
te
t,
 s
ow
ei
t 
ni
ch
t 
au
sd
rü
ck
li
ch
 z
ug
es
ta
nd
en
. 
Zu
wi
de
rh
an
dl
un
ge
n 
ve
rp
fl
ic
ht
en
 z
u 
Sc
ha
de
ns
er
sa
tz
. 

Al
le
 R
ec
ht
e 
fü
r 
de
n 
Fa
ll
 d
er
 P
at
en
te
rt
ei
lu
ng
 o
de
r 
Ge
br
au
ch
sm
us
te
re
in
tr
ag
un
g 
vo
rb
eh
al
te
n.

Co
py

in
g 

of
 t

hi
s 

do
cu

me
nt

 a
nd

 g
iv

in
g 

it
 t

o 
ot

he
rs

 a
nd

 t
he

 u
se

 o
r 

co
mm

un
ic

at
io

n 
of

 t
he

 c
on

te
nt

s 
th

er
eo

f 
ar

e 
fo

rb
id

de
n 

wi
th

ou
t 

ex
pr

es
s 

au
th

or
it

y.
 O

ff
en

de
rs

 a
re

 l
ia

bl
e 

to
 t

he
 p

ay
me

nt
 o

f 
da

ma
ge

s.
 A

ll
 r

ig
ht

s
ar

e 
re

se
rv

ed
 i

n 
th

e 
ev

en
t 

of
 t

he
 g

ra
nt

 o
f 

a 
pa

te
nt

 o
r 

th
e 

re
gi

st
ra

ti
on

 o
f 

a 
ut

il
it

y 
mo

de
l 

or
 d

es
ig

n.

Tol. für Schweißkonstruktionen

DIN EN ISO 13920 B/F

sure to be safe
SIBRE 

Stck Benennung Pos Zeichnungs-Nr.
Rohteil-Nr.

Artikel-Nr. Werkstoff Norm Rohabmessung

08.11.2023 Pauli

Maßblatt

-0,2d1 2-22mm

l1

l
2

l
3

l
4

l
8

l
5

l
6

l
7

l
9

l
1
0

Lauffläche schlupffrei flamm-
gehärtet auf 50-55HRc, 
Härtetife: min.10mm.

tread of wheel slip-free flame-
hardened at 50-55HRc,hardening 
depht:min.10mm.

1
0

E
x
z
.

± 0.1d9

d10

36SW

1
5

2
4
x
1
5
°

Achse (A)
center

Achse (B)
center

DIN933-M... -8.8
Ma=...Nm µ=0,14

H7
f7d2

H7
f7d3

d4

H7
g6d5

H7
g6d6

h6d7

M7d8

DIN3404-A-G1/4

Lager I
bearing

Lager II
bearing

60

30
60

1
5

1
5

±0.1d9

8xM...

Anschlußkonstruktion
connecting construktion

Benennung

Zeichnungs-Nr.

DIN ISO 1302

no_weight.1

Oberflächenangaben 

Werkstückkanten nach DIN6784
Edges of all parts to DIN6784

-0.4 +0.4

Gewicht
in kg

1:5

Maßstab

DIN ISO 2768 m/H

Allgemeintoleranz

Datum Name

Bearb. 08.11.2023 Hudel

Gepr. SIBRE

10 0005 4726 1
Blatt

Aus-
gabe Änderung

Checked In
Status Bl.

1

Siegerland Bremsen
Auf der Stücke 1- 5
35708 Haiger-Rodenbach
www.sibre.de

Sämtliche Radien und
Übergänge riefenfrei
All radii and crossings
free of notches

Artikel-Nummer

Kommissions-Nummer

Standard

.0

We
it
er
ga
be
 s
ow
ie
 V
er
vi
el
fä
lt
ig
un
g 
di

es
er

 U
nt

er
la

ge
, 

Ve
rw

er
tu

ng
 u

nd
 M

it
te

il
un

g 
ih

re
s 

In
ha

lt
s 
si

nd
 n

ic
ht

 
ge
st
at
te
t,
 s
ow
ei
t 
ni
ch
t 
au
sd
rü
ck
li
ch

 z
ug

es
ta

nd
en

. 
Zu

wi
de

rh
an

dl
un

ge
n 

ve
rp

fl
ic

ht
en

 z
u 

Sc
ha

de
ns

er
sa

tz
. 

Al
le
 R
ec
ht
e 
fü
r 
de
n 
Fa
ll
 d
er
 P
at
en
te

rt
ei

lu
ng

 o
de

r 
Ge

br
au

ch
sm

us
te

re
in

tr
ag

un
g 

vo
rb

eh
al

te
n.

Co
py
in
g 
of
 t
hi
s 
do
cu
me
nt
 a
nd
 g
iv
in
g 
it
 t
o 
ot
he
rs
 a
nd
 t
he
 u
se
 o
r 
co
mm
un
ic
at
io
n 
of
 t
he
 c
on
te
nt
s 
th
er
eo
f 

ar
e 
fo
rb
id
de
n 
wi
th
ou
t 
ex
pr
es
s 
au
th
or
it
y.
 O
ff
en
de
rs
 a
re
 l
ia
bl
e 
to
 t
he
 p
ay
me
nt
 o
f 
da
ma
ge
s.
 A
ll
 r
ig
ht
s

ar
e 
re
se
rv
ed
 i
n 
th
e 
ev
en
t 
of
 t
he
 g
ra
nt
 o
f 
a 
pa
te
nt
 o
r 
th
e 
re
gi
st
ra
ti
on
 o
f 
a 
ut
il
it
y 
mo
de
l 
or
 d
es
ig
n.

Tol. für Schweißkonstruktionen

DIN EN ISO 13920 B/F

sure to be safe
SIBRE 

Stck Benennung Pos Zeichnungs-Nr.
Rohteil-Nr.

Artikel-Nr. Werkstoff Norm Rohabmessung

08.11.2023 Pauli

Maßblatt

-0,2d1 2-22mm

l1

l
2

l
3

l
4

l
8

l
5

l
6

l
7

l
9

l
1
0

Lauffläche schlupffrei flamm-
gehärtet auf 50-55HRc, 
Härtetife: min.10mm.

tread of wheel slip-free flame-
hardened at 50-55HRc,hardening 
depht:min.10mm.

1
0

E
x
z
.

± 0.1d9

d10

36SW

1
5

2
4
x
1
5
°

Achse (A)
center

Achse (B)
center

DIN933-M... -8.8
Ma=...Nm µ=0,14

H7
f7d2

H7
f7d3

d4

H7
g6d5

H7
g6d6

h6d7

M7d8

DIN3404-A-G1/4

Lager I
bearing

Lager II
bearing

60

30
60

1
5

1
5

±0.1d9

8xM...

Anschlußkonstruktion
connecting construktion

Guide rollers for crane wheel systems DIN 15090

M 1501 498 E - EN - 2023-11



Alterations reserved – SIBRE Siegerland-Bremsen GmbH – Auf der Stücke 1-5 – D-35708 Haiger, Germany
Tel.: +49 2773 94000 – Fax: +49 2773 9400-10 – e-mail: info@sibre.de – www.sibre.de

GUIDE ROLLERS   

Ro
lle

rs
 

Ø
d1

W
he

el
 Ø

 Ra
il  Ød2

 [mm]
Ød3

[mm]
 

Ød4
[mm]

Ød5
[mm] 

Ød6
[mm]

Ød7
[mm]

Ød8
[mm]

Ød9
[mm]

 
Ød10
[mm]

l1
[mm]

l2
[mm]

l3
[mm]

l4
[mm]

 

 
l5

[mm] 

250 315/400 A75 115 113 109 75 85 100 150 145 170 174,5 50 120 4,5 40

315 500/630 A100 140 138 134 100 110 130 200 180 210 219,5 60 132 4 40

400 710/800 A120 170 168 164 130 140 160 240 210 250 272 65 174 3,5 50

500 900/1000 A120 180 178 174 140 150 170 260 220 260 322 75 183 4,5 50

Ro
lle

rs
Ø

d1 l6
[mm]

l7
[mm]

l8
[mm]

l9
[mm]

l10
[mm]

Exz.
[mm] 8x

M
...

[N
m

]

D
IN

 9
33

M
...

 -
 8

.8

Ma
[Nm] Bearing I Bearing II

m
ax

. p
er

m
. 

ax
ia

l f
or

ce
[N

] m
[kg]

250 150 30 437 35 5,5 10 10 M10x45 49 NCF3020V 6020 52000 58

315 165 30 464 40 10,5 10 12 M12x45 86 23026CC/W33 6026 112000 99

400 220 40 595 45 5 10 16 M16x60 210 23032CC/W33 6032 179000 194

500 235 40 620 45 5 10 16 M16x60 210 23034CC/W33 6034 224000 278

Notes:

•  The rollers Ød1 were assigned to the corresponding impeller diameters.
•	 The following conditions were used as a basis for the max. permissible axial force of the guide rollers:
	 - max. idler wheel load R0 of the wide impeller design
	 - wheel load R = R0 x c1 x c2 x c3 (c1 x c2 x c3 = 2,0)
	 - max. axial wheel load Ra = 0,2 x R
•	 With the max. axial wheel load Ra and an assumed running wheel speed n = 31,5 min-1, a dynamic bearing life for the 
bearing I L10h > 8000 h is calculated.
•	 The guide rollers can be used on other rail types.
•	 The guide roller can be adjusted via the eccentric with a pitch of 24 x 15°.
•	 The torque resulting from the max. axial force and the eccentric dimension is held by the frictional connection of the 8 	
	 connecting screws on the adjusting flange.

M 1501 498 E - EN - 2023-11


